Financing Aging in Developing Economies:
Feasible Taxation and Population Policies
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1. What is the question?
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2. Why should we care about it?
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3. What is your answer?
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4. How did you get there?

JEFH 2 #3F9(formal sector ~ informal sector) ~ PN4E{EH 4R % K 3 & 56 ~ 3 ([E
{X(child ~ young ~ old) Y overlapping generations model #1T74717 °



N: total population
N°: the population of children
N°: the population of children

n: average fertility per young adult

nY: the probability of young adults survive to the old adulthood

s,u: human capital is assumed to be discrete: skilled (s) and unskilled (u)

Tc, Ty, Ti,. CONSUMption tax, labor income tax and capital income tax

oM: The government runs a public medical care program for all old adults as a social welfare
system. It covers a fraction o of total medical expenditure M.

G: other government expenditures

¥/ =47 (KN (L))™ (L)%:

X X 12
Y =K (L5 + L))", : here are perfectly competitive firms using physical capital (K),

skilled workers (Ls) and unskilled workers (Lu) as inputs to produce the final goods. where Y
and Yxare output in the formal and informal sector.
Xu : the wage gap of unskilled workers is created by the distortion

Cyi: A young adult’ current consumption with skill level i = {s,u}

of

. young adult consumption at old age
a" ~ a° :asset holdings in formal and informal sectors
¢: raising a child costs a fraction ¢ of a young adult’s time

0i : young can supply the rest of time to the labor market. Assume that he allocates the fraction
0i of his rest time to the formal sector. The time he works in the informal sector is 1-6i of his

rest time.
nij: the number of children

j i children’s skill level, j = {s,u}
ei : education cost
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